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Test#3 Name: So l""l""() )
Math 51, Sectior27, Prof.Beydler Wednesday, November 19, 201

Directions: Show all work.No books or notes. #cientific calculatoris allowed. Your desland lapmust be
clear (no phones, notebooks, etcPBlease box your answer&ood luck!

1. 3points) Solve: ® ¢ w o @

xiJ( x-6=6
X‘l‘\"x -\2= 0

(x +¥)Y(x-3) =0
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X+¢=0 o X-3=0
x= -4 x=3
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2. (4 points) The longer leg of a right triangle is 1 m longer than the shadegr The hypotenuse is 1
m shorter than twice the shorter leg. Find the length of the shorter leg of the triangle.
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